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e Please check that this question paper contains 11 printed pages.

e Code number given on the right hand side of the question paper should be
written-on.the title page of the answer-book by the candidate.

e Please'check that this question paper contains 32 questions.
e Please write down the Serial Number of the question before
attempting it.

‘e 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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General Instructions :

(1) All questioné w"both the sections are compulsory.

(it) Marks fbr----q'icestions are indicated against each.

‘(iit) Questions No."1- 5 and 17 - 21 are very short-answer questions carrying
I mark each. They are required to be answered in one sentence each.

(iv)  Questions No. 6 - 10 and 22 - 26 are short-answer questions carrying
3 marks each. Answers to them should normally not exceed 60 words
each.

(v)  Questions No. 11 - 13 and 27 - 29 are also short-answer questions
carrying 4 marks each. Answers to them should normally not exceed
70 words each.

(vi) Questions No. 14 - 16 and 30 - 32 are long-answer quesiions
carrying 6 marks each. Answers to them should normally not exceed
100 words each.

(vit) Questions No. 11 and 19 are value-based questions.

(viii) Answers should be brief and to the point and the above wora imits
should be adfiered to as far as possible.
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Qs A
SECTION A

1. Trdt a5 =1 afean 9% e &g AT 8 ? 1

When is a good called an inferior good ?

9. ‘U HIYF & UaBa ol AY TSV | 1

(Give meaning of “Returns to a Factor”.

3. U aq ® H IuR 4 a0 & wd FHivgd Fima w fhadt oft aen s= 9
- W 9w &, HH19 9EY (AT 1 SqGg) =1 BT 2 )

What will be the behaviour of marginal revenue in a market for a
product where a firm can sell any quantity at the given price ?

4. TG TG S A ST | L. -
Define opportunity cost.
5. 3= o7 & uieymy St | 1

Define indifference map.

6. b 9% I FHd T 5 i 3z & ¢ L T 6 TId IS &l SATdl 8 ciiehd 3949
3H 9% I HIT W hIg @ 781 9Sdl | g&q shl T ol HiFd @rg 1 Tieha
HIT | 3

Price of a good rises from ¥ 5 to T 6 per unit but it had no effect on
demand of that good. Calculate price elasticity of demand of the good.

7. T g @i 4 $dd IRIAH1 ATd a6 3R el @lTd 96 @i | 3
3TraT .
G 3T AN I STGER AR | TG 1 T HITT |

Draw a total variable cost curve and total cost curve in a single diagram.

OR

Explain the behaviour of Average Fixed Cost. Use diagram.
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e : [AEITRad F97 a1 GIBgIT aidmioral & fo7e J97 G817 & T W E |

Note:  The following question is for the Blind Candidates only in lieu of
Q. No. 7.

TEITcHh 3R hl HEAT § Fel IRaa-1d ANt o SHagR o fafsrs =won
! FAT3T | . 3
COC

GEITcHS IS0 1 HEFal ¥ “3Ed 319e NTd 1 SIa8r guTeu |

State the different phases in the behaviour of ‘Total Variable Cost’ using
a numerical example.

OR
Explain_the behaviour of ‘Average Fixed Cost’ using a numerical
example.

8.  Yiq.hl M o= I AT FHEEe | Ifd H Hd A= H T T b
SR Ha BT g ? 3

Explain-the concept of price elasticity of supply. When is the value of

price elasticity of supply equal to one 7

9. hi3 oI EURUMT §qi3C 9 W T Ie1eT 991eH1 I5h AT9THG 2 | 3
| State any three assumptions on which a ‘Production Possibilities Curve’
1s based.

10. “Hiur=a IUFFar FATURON Teh TEATcHS IS8 ! TEEdl d THSATST | 3
Explain the concept of ‘marginal utility’ with the help of a numerical
example.
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11. fome 9 =y & foe g1 e 8 | 399 39T & 9 FH 8d TR,
AfSh FHaer I TR URHAT o HIEIH ", T 1 Thdl 8 | TR & &
HEHl & TEAEG THE! Sl THATITY | _ 1
Cigarette smoking 1s 1injurious to health. How can the government

reduce its consumption but only through the normal market forces.
Explain the chain of effects of government’s action.

12. gggse T f=fafga &1t o 61 gfd | 58 I99 98d1 8 - 4
i) Nt i HHat § giEad
(i)  3FG JrEIAeh
g

wrgTse 5 frefifad #1 v aeq 6t Off W 3w 9gan 2 -
()  39TET R Al SEEa
(i) I &Gl Dl DhFdr § G

Explain the effectof’thg'following' on supply of a good :
(1) Change:""'"in*--];':;’:rices of inputs
(i)  Technological advancement

OR

Explain how do the following influence supply of a good :
(1) Subsidy on production

(1) Changes in prices of other goods

13. U UM hadl &l a3l X N Y HI UM Fla1 2 IR Fqa H g | a5 Y
! Shima 9¢ ATl 2 | fCETse 35 R0 I%g Y 6l 70 T2 AT | 4

A consumer consumes only two goods X and Y and is in equilibrium.
Price of good Y rises. Show that it will lead to fall in demand for good Y.
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14. TuIRY {6 T qoigan gfaarft s 6 FefoRga famdrs & wn qfomm
ﬁﬁﬁ%: 6
i)  HHT ! IJAN H YA HE FHI T
(i)  THT I I Bied hHi T&aFdn

Explain the outcome of the following features of a perfectly competitive
market :

(1) Freedom to the firms to enter the industry
(11) Freedom to the firms to leave the industry

15. 3FHE g% favewor H 3UHiHl Gqo hl Wid Saise AR ITehl SATEAT
I | 6

FUST
A Fpi h 9 faswa sasu 3 3961 =3 Hifs |

State and explain the conditions of consumer’s equilibrium in the
indifference curve analysis.

OR
State and explain three properties of indifference curves.

16. mﬁwm@m%wwaﬁwmaﬂtww
tﬂ:maﬁa?rﬁm | ‘dura @ 3R dmra rm (wenfa)’ ot s g

HIfST - 6
A (s%eal) 00 |1 |2 |3 |4 s

FA AT (3) 11 | 19

A AN (%) 10 1_8- 29 _:_30 | 36

Giving reasons identify the equilibrium level of output and find profit at
this output using the ‘Marginal Cost and Marginal Revenue’ approach
from the following :

O}ltput (units) 1 | 2 3 - 3)

Total Revenue (%) 11119 |24 | 28

Total Cost (%) 10118 |25 |30 | 36
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Qs q
SECTION B

17.  \eIadi 3990 <6 gftymsT &S | 1

Define intermediate consumption.

18. o%q fafima @ == =i 8 2 1

What 1s barter ?

19. % U FcH Fd120 A1 36 TR 2794 591 & T1eay 9 1 A7 el & "
AW HH HH 6 oI o Fehell 2 | _ I

Name any one step the government can take through its budget to
reduce the gap between the rich and the poor.

20. HcIBE @ ? ' 1

What is depreciation ?

21, Fdm 1 o) A | ' :

Define investment. ...

22. ‘Taz fawr IR i FHEer & S 379t gHEE | 3

Explain the distinction between ‘autonomous investment’ and ‘induced
investment’.

23. TR FF Dl T =Y AR TG =79 & g Sl HH HOH.
IMYR 3 ? GLHHI HHAMI] R Ja o3 340 d 6T a7 § 377ar 8 SR 41 2 3

What i1s the basis of classifying government expenditure into ‘Revenue
Expenditure’ and ‘Capital Expenditure’ 7 Which of these types of

expenditure is payment of salaries to government employees and why ?
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24.

29,

26.

217.

28.

58/1/3

Wd # B H 7wiehl Sier i fafma o d +rh gfg g5 8 | 39 9 *
il W = U999 < 9Y9EAr g 3T = 2 |

In India, exchange rate of U.S. Dollar has risen considerably. What is its
likely impact on Indian exports and why 7

HUFATST T 4 fohd YR SAaaehareti o gral 99T i THET I g fohan 8 ?
GG
ol ATYfd i JATERON FHATT |

Explain how money has solved the problem of double coincidence of
wants. |

OR
Explain the concept of money supply.

frfciRad & 2. & Tgeid Tl i UEhei hioTg :

@ I AR W I9HT Y 140

(i)  FWETE ST Y9 0-8

i)/ A F 80

Calculate equilibrium level of income from the following :
(1) Consumption expenditure at zero income T 40
(11) Marginal propensity to consume 0-8
(111) Investment < 80

PAH Tqod 4 W Teqagil AR gaEiea Geddgii & e al Farsy |
39 3T o1 T HEwd 3 ?
Distinguish between the autonomous transactions and the

accommodating transactions in the Balance of Payments. What i1s the
significance of this distinction 7

Hrald dh 1 “GEHR H AL 3R T 1 GHEEY |

Explain “Government’s banker and agent” function of central bank.
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29, UHFEU fh fFH THR TR GERR §9¢ & TS99 d G941 o 31§ &
qHTfId S Eehdl & | 4

AT
TSRS =TT 3R WY 9121 & &9 37at GuHTsT |

Explain how government can influence allocation of resources through
government budget.

OR
Explain the distinction between fiscal deficit and primary -deficit.

30. @Il i FEEdr ¥ Thifd 3=aUel 3R EEFifd 3aUa & 319 ST | 6

Explain the meaning of inflationary gap and deflationary gap with the
help of diagrams.

TIZ:  [HEICTET F97 #acT GIREIT TRemiddl & 17 J9 G891 30 % ¥ T E |

Note:  The following question is for the Blind Candidates only in lieu of
Q. No. 30.

vhifd St ie-oraehifd =A% 7Y GHHTSY | TR FH B H fhEl TH
39 &I ] it | 6

Explain the meaning of inflationary gap and deflationary gap . Explain
any one measure by which these gaps can be reduced. |

31. (%) St 3 3R (W) IR HHd | el <319 I8 & IiFed Hifu ;. 2, 4

_ (3T &)

@ W _ 10

(i) = YAl BT ITHM s

(i) SFFFF TSI I - 150

(iv) fecen | fae <o) g&amat _ 6

(v) Taewi @ fow e o 7

(vi) Tasit Frfoe e < gfauria s=d 5
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(vi) TTHR GRI HTe] aTalul 8

(viii) iR .80
(ix) TEH /0 W 9
(x) TTHR I B AT <IN 3T 30
(xi) TFaa Auas = 25

Calculate (a) Private Income and (b) Gross Domestic Product at Market

Price :
(T in arab)

(1) Corporation tax 10
(11) Consumption of fixed capital 15
(111) Personal disposable in¢ome 150
(iv)_ Neteurrent transfers from abroad 6
(v) Net factor income from abroad 7
'(vi) Retaled earnings of private corporate sector 5
(vii]i Transfer paj}ments by government 8
(viii)mge{ipnal tax 20
(1x) National debt interest 9
(xX) Domestic income accruing to government - 30
(x1) Net indirect tax 26

82. TNV ¢d FC WHARC {h TP A 1 9 ad 9d fr=farfiga & @y &=
w%mmmf‘gq 6
G) w4 gr fersredt 1 IuHm
(ii) EETHga FHHATRE! I U=¥H 1 JTAH
(iii) EEqarell § Tl 1 g g
rgat
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“Freafaes 3" Y JAGURIT GUSET | GHTET T SR TS (STerEnei)
B9 ¥ ardfass T A AU AT F FHeAW FT TEl GIH A& T S
Hohdl |

Giving reason explain how should the following be treated in estimating

national income :
(1) Electricity consumed by a firm
(11) Pension paid to the retired employees

(111) Free treatment of the poor in hospitals

OR

Explain the concept of “real income”. Explain why, due to_the presence of
externalities, real national income in itself cannot be treated as a true
index of welfare.
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